
F-
81

0 

(P
.T

.0.
) 

(c) 7
 

(d) 
8 

(a) 5
 

(b) 
6 

3 

If2
17x

 +13 ly
 

=91
3 and 

131
x+ 217

y 

=
 

827,
 

then
 x+y IS

 
equ

al to
 : 

(c) cx'
- bx

 
+

 
a=0

 (d) cx* 
+

 
bx

 
-a

 
=

0 

(a) ax' 
+

 
cx

 
+

 
b=0

 (b) cx² 
+

 
bx

 
+

 
a=0 

ax
 +
 

bx
 

+c
=0

 is
 

2 

Qu
adr

atic
 

(c) 16:3
 

(a) 3:1 

(d) 16:1
 

(b) 3:16
 

b²: a
c F

 
If

 
one root

 of
 

the 
eq

ua
tio

n ax' 
+

 
bx

 
tc=

0 

is
 

thre
e 

tim
es the 

oth
er,

 

then
 Sec

tion
 A

 
con

sis
ts of

 
20

 
qu

est
ion

s of
 l 

mar
k 

eac
h. 

SE
CT

IO
N

-A
 

8 

not 
sta

ted
. Dr

aw nea
t 

fig
ure

s 

wh
ere

ve
r 

req
uir

ea
. 

lake
 n 

7.
 

int
ern

al 

cho
ice

 has been
 

pro
vid

ed
 n 

the 
2 

ma
rks 

qu
est

ion
s of

 
Se

ctio
n 

E
 

6 

mar
ks, 

2 Q
s 2 

5.
 

Sec
tion

 D
 

has 
4 

qu
est

ion
s 

car
ryi

ng
 05

 
mar

ks each
 

4.
 

Sec
tion

 C
 

has 
6 

que
stio

ns 

car
ryi

ng
 03

 
mar

ks each
 

3.
 

Sec
tion

 B
 

has 
5 

que
stio

ns 

car
ryi

ng
 02

 
mar

ks each
 

2.
 

Sec
tion

 A
 

has 20
 

MC
Ìs 

car
ryi

ng
 I 

mar
k each

 

1.
 

This
 

Qu
esti

on Pap
er has 

5 
Sec

tion
s A-E.

 

Ge
ne

ra
l 

In
st

ru
ct

io
ns

 Tim
e :3

 
hrs

.] [ 
M.M

. : 80
 

No. of
 

Pri
nte

d 

Pa
ge

s: 10
 

FAS 
/ 

M
ath

em
ati

cs
 Rol

l 
No.

, 
...

.?
. 

equ
atio

n 

wh
ose

 

roo
ts are the 

rec
ipr

oca
l of

 
the 

root
s of

 
the 

equ
atio

n 

=22
/7 

wh
ere

ver
 

req
uir

ed
 if

 

of
 

of
 

3 
mar

ks 

and
2 

Qu
est

ion
s 

mar
ks has 

been
 

pro
vid

ed
. A

n 

All 
Qu

est
ion

s are 
com

pul
sor

y. 

Ho
we

ver
, an

 
int

ern
al 

cho
ice

 of
 

2 Q
s 

of
 

5 Se
cti

on
 E

 
has 

3 

cas
e 

int
eg

rat
ed

 

uni
ts 

bas
ed of

 
ass

ess
me

nt (04 

ma
rks

 

eac
h) 

Sta
nda

rd /X/ 

Pr
e-

Bo
ar

d 

Ex
am

., 

20
24

-2
5 

IInd
 



6 

7 

8 

The value ofk for which the: and 6x+ 10y =3 is 
inconsistent, is : 
(a) -10 

(c) S 

If in AABC and ADEF, 

(a) B= E 
(c) B= D 

(a) 50° 

(c) 600 

If tan = 5/2 then 

A 

(a) 110° 

B 

(c) 100° 

AB 
DE 

esystem of equations 3x-ky= 

ln Fig, two line segments AC and BD intersect each other at the point P such 

that PA =6 cm, PB = 3 cm. PC =2.5 cm, PD = 5 cm, ZAPB = 50° and 

LCDP =30°. Then, ZPBA is equal to 

6 cm 

(2 ) 

3 
(b) , 

sector angle is equal to : 

BC 

50 

ED FD 

4sin + cos 0 
4 sin - cos 

3 cm 

(b) -5 
(d) 7 

then they will be similar when : 

(b) ZA= D 

(d) ZA= ZF 

5 cm 

2.5 cm 

(b) 30° 
(d) 100° 

is equal to: 

If the area of a sector of a circle is 7/20 of the area of the circle , then the 

307 

(b) 130° 
(d) 126° 

D 

(d) 4 



10 

11 

12 

13 

14 

15 

is : 

The tops of two poles of height 20m and 14m are connected by a wire. If the wire makes an angle of 30° with the horizontal, then the length of the wire 
(a) 12 m 

(c) 8 m 

(a) (0, 0) 

(c) (-5, 0) 

The point on the x- axis nearest to the point (-4,-5) is : 

(a) 3/13 

(c) 3/52 

(a) 5 cm 

A card is drawn froma well shuftled deck of playing cards. The nrohability of 
getting red face card is : 

(c) 10 cm 

ofk is: 

(a) 15 

(3 ) 

(c) 17 

The radius of the base of a right circular cone and the radius of a sphere are each 5 cm in length. If the volume of the cone is equal to the volume of the 
sphere then the height of the cone is 

(b) 10 m 

(a) 2/7 

(d) 6 m 

(c) 4/7 

b) (-4, 0) 

d) (v41, 0) 

(A) (4.5, 0) 

Ifk +7,2k-2 and 2k + 6 are three consecutive terms of an A.P, then the value 

(C) (0.5, 0) 

(b) 1/2 

(d) 3/26 

(b) 20 cm 

(d) 4 cm 

The probability of x?<4 ifx =-3,-2,-1,0, 1,2,3 is: 

(b) s 

Maths Standard/X/F-810 

(d) 1 

(b) 6/7 

(d) 3/7 

The point on x-axis which is equidistant from the points (5, -3) and (4, 2) is: 
(B) (7, 0) 

(D) (-7,0) 



(c) 6.5 
(a) 6.2 

(d) 6.9 
(b) 6.3 

18. 

7.2 and the 

me
dia

n7.
1, is: Usin

g 

em
pir

ica
l 

rel
ati

on
shi

p, the 
mod

e of
 a 

dis
trib

uti
on

 

who
se mea

n is
 

(c)
J3 

cm
 10

 

(d) 1
0 

crm 

(a) cm
 

5 

(b)
5/3

 cm
 

B
 

PO
60 

17
 

O
 

and 
rad

ius 

5 
cm. If

 
ZAP

B 

-
60°,

 

(c) 1
2 

cm
 

(d) 1
1 

cm
 (a) 1

5 
cm

 

(b) 1
4 

cm
 

14
 R
 

15
 

P P 

IfP
Q=

12
 cm, O

R
 

=
 

15
 

cm
 

and R
S =
 

14
 

cm, then
 find
 the 

len
gth

 of
 

SP
 

is
 16

 

A
 

qua
dri

late
ral PQR

S is
 

draw
n to

 
circ

um
scr

ibe
 a 

circ
le. 

(4
 ) 

then
 the 

len
gth

 of
 

PA
 

is
 : In

 
the 

give
n 

figu
re, PA

 
and PB

 
are two 

tan
gen

ts 

draw
n to

 
the 

circ
le with

 

cen
tre 

12
 



(5
) 

Maths 
Standard/X/F-810 

DIRECTION: 
In 
the 

question 

number 
19: 
19 

and 

2
0

,a 

statem
ent 

of assertion 

(R
) 

are 

true 

and 

reason 

(R
) 

R
eason explanation 

of assertion 
(A) Both 

assertion 

(A
) 

and 

reason 

(K
) 

are 

urue 

and 

reason 
(R

) 
is not 
the 

correct 

explanation 
of assertion 
(A) Assertion 

(A
).is 

true 
but 

reason 

(R
) 

is 

false. 

(c) 

Assertion 
(A

) 
is 

false 
but 

reason 
(R

) 
is true, 

(d) Tw
o 

players, 

Sania 

and 

Ashnam
 

play 
a tennis 

match. 

The probability 
of Sania 

winning 
the 

match 
is 0-79 

and 
that 
of 

A
shnam

 
w

inning 
the 

Assertion 

19. 

The 

sum
 

of probabilities 
of 

tw
o 

com
plem

entary 

events 
is 
1. 

A
ssertion 

: HCF 
of 
any 

tw
o 

consecutive 

even 

natural 

num
bers 

is alw
ays 

2. 

Even 

natural 

num
bers 

are 

divisible 
by 
2. Reason 

Reason 

20. 

SE
C

T
IO

N
-B

 

PQRS 
is a trapezium

 

with 

P
Ì 

// 

SR
. 

If M
 

and 
N

 
are 

tw
o 

points 
on 
the 

21 

2 

Q
N

 

PM
 NR 

MS 

P 

N
 

MA 

R
 

Ifits 
first 

term
 

is 20 

then 
find 

22. 

2 the 

com
m

on 

difference 

and 

12th 

term
. O
R

 

(a) 

Both 

assertion 
(A

) 

and 

reason 

is th
e 

correct 

of (R
). 

Choose 

is (A) 

followed 
bya 

statement 

the 

correct 

option 

match 
is 0-21. 

non-parallel 

sides 
PS and 
QR 
respectively, 

such 
that 
MN 
is parallel 
to 
PQ, then 

show 
that 

The 

sum
 

of 
the 

of an 

A.P. 
is 

900. 

first 
1

2
 

ternm
s 



23. 

24. 

25. 

26. 

27. 

28. 

29. 

The sum of first n terms of an A.P. is represented by S. = 6n -n Find the 

common difference. 

Two dice are rolled together bearing numbers 4, 6, 7, 9, 11, 12. Find the 

probability that the product of numbers obtained is an odd number. 

(6) 

Ifcos (A + B) = and tan (A-B)= 

value of sec (2A-3B). 

2 

x-y'=p'-¢. 

method. 

OR 

Ifx=p sec 0 +q tan and y =p tan + q sec 0, then prove that 

1 

SECTION-C 

2 

where 0 <A+B<90°, then find the 

Find the H.C.F and L.C.M of 480 and 720 using the Prime factorisation 

2 

OR 

2 

Four bells toll at an interval of 8, 12, 15 and 18 seconds respectively. All the 

four begin to toll together. Find the number of times they toll together in one 

hour excluding the one at the start. 
3 

Ifa, B are zeros of quadratic polynomial 2x?+ 5x+k, find the value ofk such 

that (a + B)²- aß = 21/4 
3 

3 
Find the solution of 2x -3y+ 6=0 and 2x + 3y- 18=0 graphically. 

In a rectangular park of dimensions 50 m x 40 m, a rectangular pond is 

constructed so that the area of grass strip of uniform width surrounding the 

pond would be 1184 m². Find the length and breadth of the pond. 3 

One fourth ofa herd of camel was seen in the forest. Twice the square root of 

the herd had gone to the mountains and the remaining 15 camels were seen on 

the bank of the river. Find the total number of camels. 



30. 

31. 

32. 

The perimeter of sector centred at O and of radius 24cm, is 73.12 cm. 

Find the central angle ZAOB 

Prove the following identity: 
(sin A + cosec A)? + (cos A + sec A) =7+ tan'A + cot®A 

and f,: 
Classes 

If sec =X+ prove that sec + tan =2x or 1/2x 

Frequency 

fsector OACB of the circle 

Length 

1 

In mm 

The mean of the following distribution is 53. Find the missing frequencies f, 

Number 
of leaves 

4x 

(7) 

and the data is given 

3 

0-20 
15 

OR 

SECTION-D 

20-40 
f 

OR 

40-60 
21 

118-126 127-135 136-144 145-153 

Find themedian length of leaves. 

60-80 

12 

f, 

Inelengths of 40 leaves ofplant are measured correct to the nearest millimetre 

80-100 
17 

154-162 163-171 

Total 

4 

100 

3 

3 

2 

172-180 

5 



34. 

35. 

36. 

A metallic cylinder has radius 3cm and height Scm. To reduce its weight, a 

conical hole is drilled in the cvlinder The conical hole has a radius of 3/2 cm. 

and its depth is 8/9cm. Calculate the ratio of the volume of metal left in the 

cylinder to the volume of metal taken out in the conical shape. 

(8 ) 

X 

In given figure, XY and PQ are two parallel tangents to a circle with centre O 

and another tangent AB with point of contact C intersecting XY atA and PQ at 

B. Prove that AOB=90° 

p 

R 

S 

OR 

5 

BO 

As observed from the top of a 75 m high lighthouse from the sea level, the 

angles of depression of two ships are 30° and 45°, Ifone ship is exactly behind 

the other on the same side of the lighthouse, find the distance between the two 

ships (Use /3 = 1.732) 

SECTION-E 

5 

A boy whose eye level is 1.35 m from the ground, spots a balloon moving with 

the wind in a horizontal line at some height from the ground. The angle of 

elevation of the balloon from the eyes of the boy at an instant is 60 , After 
12 seconds, the angle of elevation reduces to 30°. If the speed of the wind is 

3m/s then find the height ofthe balloon from the ground. (Use 3=1.73) 

Your elder brother wants to buy a car and plans to take a loan from a bank for 
his car, He repays his total loan of Rs 1,18,000 by paying every month starting 
with the first instalment of Rs 1000. If he increases the instalment by Rs 100 

every month, answer the following: 



37. 

(i) The amount paid by him in 30h installment is.. 

Gi) What amount does he still have to pay after the 30th installment? 
(i) Lftotal installments are 40 then the amount paid in the last installment? 

Case Study-2 
The ratio of the lst installment to the last installment is.. 

figure: 

ROWS 

10 

8 

Students ofa DAV school are standing in rows and columns in their playground 

for a drill practice. A, B, C and D are the positions offour students as shown in 

7 

(9) 

6 

BANKAIE 

2 

1 2 3 

OR 

6 

Colunns 

B 

D 
10 11 12 13 

1 

Teacher 

2 



( 10 
) 

On 
the 

basis 
of above 

inform
ation, 

answ
er 

the 

follow
ing 

questions 

Find 
the 
mid 

point 
of BD. 

(i) 
(11) 
lf the 

point 
P 

divides 
the 
line 

segment 
AC 
in 
the 

ratio 
1:2, 
then 
find 

coordinate 
2 of 
P. 

O
R

 Find 
the 

position 
of Jaspal 

standing 
in 

sucha 
way 
that 
he 
is cquidistant 
from each 

of 
the 

four 

students 

A
,B,C 

and 
D. 

(ii) 
Find 
the Triangle 

is a very 

popular 

shape 

used 
in interior 

designing. 
The 

picture 

given above 

shows 
a cabinet 

designed 
by 
a fam

ous 

interior 

designer. 

38. 

Here 
the 

largest 

triangle 
is 

represented 
by 

AABC 
and 

sm
allest 

one 

with 

shelf is represented 
by 

ADEF. 
PQ 
is parallel 
to 
EF. 

Q
 

P 

F 

E
 

Show 
that 

ADPQ~ 

ADEF. 

(i) 

2 

(ii) 

If2A
B

 
=

 

5DE 
and 

A
A

BC~ 

ADEF 

then 

show
 

that 

OR 

perim
eter 

of 

A
A

B
C

\ 

perim
eter 

of 

ADEF 
is 

constant. (ii) 

IfA
M

 
and 
DN 
are 

medians 
of sim

ilar 

triangles 

ABC 
and 

DEF 

respectively 

then prove 
that 

AABM
~ 

ADEN. PQ EF 

(iii) 

IfD
P= 

S0 
cm 

and 
PE 
=

 
70 
cm

 

then 

find 

distance 

betw
een 

A
 

and 
D. 
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